SSC GD Constable Exam Analysis 16 November 2021

GK Asked Question:

Vitamin E chemical name: Tocopherol
Current chief justice: NV Raman

Sangh suchi Union list no. of subjects
Capital of Bhutan

Vande Matram ke swami

Health minister

The tallest peak of India

Bandhan Express/ Samjhota Express/ Mitali Express
2022 nominated for Oscar

NABARD was established in which year
Amravati Tiger Reserve

World Lungs day

Munri Dance of which state

40th World Heritage Site

1st Bharat Ratna Award was given to
Fundamental Unit of protein

ISRO was established on

ECG

Paralympic rank of India

“Selfie with temple”

Hindi Asked Question:

. & o i avf 8ia B2
. I BT fIAH T I B2

- AT BT WgarE?
- HHCT BT YigarHr?
- BB LG IaAT?

- 3fTRNaiE B Y& aaAT?
English Asked Question:

Synonym of Lucid:

Born after death of the father: Posthumus
Fragile opposite

Usage of No sooner

Mathematics Asked Question:

20 % of A = 35% of B, A:B=? ans: 7:4

Sp of 40 items = CP of 50 items, profit percentage: SP/CP, 25%
Rate= 20%, T=24, CI=Rs. 792, SI="?

A=8 hour, B=12 hr, A+B-C= 40/20




12% of 250 + 16% of 300= 305 of 40+7?

Mean proportioanl: 0.008, 0.018

Vikraya Mool =1170, Loss = 10%, Kraya mool =?, Profit = 20%

3 partners invest in 5:4:6, profit-60,000, Find value of 4

12:13:: 24:X, 671 of x=?

33 items sold, vastu vikraya mool, find profit percentage, Ans: 50%
CP= 10000, SP= 7866, D1=10%, D2= 8%, D3=




